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Question Number : 1 Question Id : 615475309 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two zetz given below. Set I provides levels of teaching while Set II gives their focus of
concern :

Set I Set II
(Levels of Teaching) (Focus of concern)
(a) Autonomous development level (1)  Problem raising and problem solving
(b) Memory level (1) Affects and feelings
(c) Understanding level (1m1) Recall of facts and informations
(d) Reflective level (1v) Seeing of relationship among facts and

their examples

(v) Peer learning

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c}-(1v). (d)-(v)

(2) (a)-(1), (b)-(1v). (e)-(111). (d)-(11)
(3) (a)-(11). (b)-(111). (c)-(xv). (d)-(1}
(4) (a)-(v). (b)-(1v). (c)-(11). (d)-(11)
Options:

154751201 1

154751202, 2

6154751202 3
E154751204 4

Question Number : 1 Question Id : 615475309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (c)-(v). (d)-(v)

(2) (a)-(1). (b)-(1v). (c)-(111). (d)-(11)

(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)

(4) (a)-(v). (b)-(av). (c)-(11). (d)-(11)
Options:

E154751201. 1
BE154751202 2
B154751203 3
E154751204, 4

Question Number : 2 Question Id : 615475310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of classroom teaching. the foundation on which a warm and nurturing
relationship with learners can be built 1s called :

(1) Probing (2) Teacher Affect
(3) Structuring (4) Feedback
Options:

61547512051
E154751206, 2
E154751207 3
B154751208. 4

Question Number : 2 Question Id : 615475310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E154751205. 1
E154751206 2
B154751207 3
6154751208 4

Question Number : 3 Question Id : 615475311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list of learning outcomes indicated below. identify those which are said to be high
level outcomes :

{(a) Learning of facts and rules

(b} Showing the abilitv to analvse and svnthesize
(c) Awareness. responding and valuing

(d) Imitation. manipulation and precision

(e) Articulation and naturahzation

(f) Organization and characterization

Select correct answer from the options given below :

(1) (b). (e) and (f) (2) (a). (b) and (c)
(3) (b). (c) and (d) (4) (a). (c) and ()
Options:

E154751209. 1
6154751210 2
E154751211. 3
E154751212 4

Question Number : 3 Question Id : 615475311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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6154751209 1
E1547512100 2
BE154751211. 3
B15475121% 4

Question Number : 4 Question Id : 615475312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following sequences correctly reflects the evolution of educational

technology support in higher education?

(1) Programmed learning material, text book support, online and modular material

(2) Text book supplementation, programmed learning material, modular material and

online methods

(3) Modular material, programmed learning, online and text book supplementation

(4) Online methods, modular material, text-book supplementation and programmed

learning material
Options:
1547512121
6154751214 2
6154751215 2



E154751216. 4

Question Number : 4 Question Id : 615475312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
1547512131

E154751214 2
6154751215 3
B154751216. 4

Question Number : 5 Question Id : 615475313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the two zets given below 1n which Set I mentions levels of measurment and Set II
their properties :

Set I Set I
(Levelz of measurement) (Properties)
(a) Nominal (1)  Classification. order. equal umits and
absolute zero
(b)  Ordinal (1) Claszsification, order and equal units
(c) Interval (111) Classification
(d) Ratio (1v) (Classification and order

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(4) (a)-(111). (b)-(1v). (¢)-(11). (d)-(1)



Options:

6154751217 1
154751218 2
5154751219 2
6154751220, 4

Question Number : 5 Question Id : 615475313 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(i1), (c)-(1i1), (d)}-(1v)
(2) (a)-(11). (b)-(111). (c)-(v). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

6154751217, 1

6154751218, 2

6154751219 3
6154751220 4
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Question Number : 6 Question Id : 615475314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



Identify the tests from the list given below. which are maximum performance tests in the

context of research :

(a) Personality tests
(b) Projective personality tests
(c) Achilevement tests

(d) Attitude tests
(e) Intelligence tests

(f) Aptitude tests

Choose correct answer from the options given below :

(1) {a). (b) and (c) {2) (b) (c) and (e)
(3) (c). (e) and () (4) (a). (d) and ()
Options:

BE154751221. 1
B154r51222 2
B154r51223 3
6154751224 4

Question Number : 6 Question Id : 615475314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154751221 1
6154751222 2
£1547512232 2
6154751224 4

Question Number : 7 Question Id : 615475315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research 1s cyelic in nature?

(1) Fundamental research

(2) Applied research

(3) Action research
{4) Evaluative research
Options:

51547512251
B154r51226 2
6154751227 3
6154751228 4

Question Number : 7 Question Id : 615475315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6154751225 1
E154751226. 2
E154751227. 3
6154751225 4

Question Number : 8 Question Id : 615475316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following sampling methods emploved 1n research. the units comprising the

sample are given equal and independent chance?

(1) Stage sampling
(2) Cluster sampling
(3) Dimensional sampling

(4) Snowball sampling

Options:

6154751229 1
6154751230 2
6154751231, 3
£154751232 4

Question Number : 8 Question Id : 615475316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

6154751229 1
6154751220 2
6154751231 3
6154751232 4

Question Number : 9 Question Id : 615475317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The 1ssue of research ethics becomes relevant in which of the following stages of rezearch?

(a) Problem selection

(b) Hypothesis formulation

(c) Hypothesis testing

(d) Data analysis and interpretation

(e) Defining of research population

Select correct answer from the following options :

(1) (a) and (b) (2)  (c) and (d)
(3) (b} and (e) (4) (c)and (e)
Options:

BE154751233. 1
BE154751234 2
6154751235 3
E154751236. 4

Question Number : 9 Question Id : 615475317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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61547512321
E154751234 2
E154751235 3
E154751236. 4

Question Number : 10 Question Id : 615475318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which type of qualitative research designs. individual stories to describe the lives of
people are explored?

(1) Ethnography (2) Grounded theory research
(3) Svmbolic interaction (4) Narrative research
Options:

E154751237. 1
6154751238 2
E154751239. 3
E154751240 4

Question Number : 10 Question Id : 615475318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B154751237. 1
6154751238 2
6154751239 3
E154751240. 4

Question Number : 11 Question Id : 615475319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mini-summaries at the end of each class 12 called

(1) Verbal break-up

(2) Chichéd conclusion

(3) Verbal signposting

(4) Staggered conclusion
Options:

61547512411
6154751242 2
E154751242 3
E154751244 4

Question Number : 11 Question Id : 615475319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547512411
E154751242 2
E154751243 3
E154751244 4

Question Number : 12 Question Id : 615475320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Micro expressions, as part of classroom communication. are

(1) negative
(2) positive
(3) manipulative

(4) fleeting

Options:

5154751245 1
6154751246 2
6154751247 3
6154751248 4

Question Number : 12 Question Id : 615475320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6154751245 1
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E154751247 3
61547512458 4

Question Number : 13 Question Id : 615475321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

knd

Which of the following are essential for good classroom communication’

(a) Over-emphasis on certain words
(h) Use of gobbledvgook

{c) Proper emplovment of redundancy
(d) Immediacy of feedback

(e) Non-verbal cues

(f) Sidelining student criticism

Choose the correct option from the following :

(1) {(a). (b) and (c) (2) (b). (e¢) and ()
(3) {c). (d) and (e) (4) (d). (e) and (D
Options:

5154751245 1
6154751250 2
6154751251 3
E154751252 4

Question Number : 13 Question Id : 615475321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154751245 1
61547512500 2
6154751251 3
6154751252 4

Question Number : 14 Question Id : 615475322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pitch of the teacher's voice in the classroom 1s described as

(1) Linguistic (2) Paralinguistic
(3) Non-linguistic (4) Macro-hnguistic
Options:

E154751253. 1
E154751254 2
6154751255 3
E154751256. 4

Question Number : 14 Question Id : 615475322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E154751254 2
6154751255 3
B154r51256. 4

Question Number : 15 Question Id : 615475323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One 15 labelled as Assertion (A) and the other 1s labelled
as Reazon (R).

Assertion (A) ; If a teacher wants to improve his or her abilities as an effective classroom
communicator. he or she should first understand the students.

Reasons (R) : The ability to understand students and intended listening are disjointed
propositions.

In the light of the above two statements. choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 false. but (R) 12 true

Options:

L154751257 1

154751258 2

L154751259 =2

C1E4751260. 4

Question Number : 15 Question Id : 615475323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
1547512571

E154751258. 2
E154751259 3
E154751260. 4



Question Number : 16 Question Id : 615475324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the missing term in the series given below?

2.4.6, 12, 10,36, 14,7, 15,524, .....

(1) a0 (2) T2
(3) 108 (4) 18
Options:

E154751261. 1
B154r51262 2
E154751263 3
E154751264. 4

Question Number : 16 Question Id : 615475324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

f=fafiga g@en § 99 3% #0127

2odoe; 12. 10; 36; 14, 2 18, 324 .

(1) 50 (&) I
(3) 108 (4) 18
Options:

61547512611
E154751262 2
E154751Z2E3. 3
E154751264. 4

Question Number : 17 Question Id : 615475325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Apoorav 1z son of Madhu. Vinod 1s brother of Madhu's husband. How 15 Apoorav related to
Vinod?

(1) Uncle (2) Brother
(3) Nephew (4) Cousin
Options:

E154751265. 1
6154751266 2
E154751267. 3
E154751268. 4

Question Number : 17 Question Id : 615475325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547512651
E154751266. 2
E154751267. 3
E154751Z268. 4

Question Number : 18 Question Id : 615475326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a certain code "ENGLAND" 1z written as “ULSNYLV". Using the same code. “IRELAND”

will be written as

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

6154751269 1
E154751270 2
E154751271. 3
B154r51272 4

Question Number : 18 Question Id : 615475326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
5 “ENGLAND” # &¢ “ULSNYLV" 2 1 3di e 9™ %1 $4m &4 T “IRELAND” # %2
fefigd 4 O 7-rE w=n forgn = 7

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

5154751268591
6154751270 2
6154751271 3
E154751272 4

Question Number : 19 Question Id : 615475327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of two numbers @ and b 1s 3 ;: 7. After adding 9 to each number. the ratio becomes
9 :17. The numbers ¢ and b are :

(1) (6. 14) (2) (9. 21)

(3) (15. 35) (4) (185.42)

Options:



BE154751273. 1
6154751274 2
6154751275 3
E154751276. 4

Question Number : 19 Question Id : 615475327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (6, 14) 2y (9, 21)
(3) (15, 35) (4) (18, 42)
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i

Options:

6154751273
6154751274
6154751275,
6154751276,

T

Question Number : 20 Question Id : 615475328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term 1n the series

AT. EQ, IN, OK, ..... 18

(1) UH (2 UP
(3) us 4y UU
Options:

B154r51277. 1
6154751278 2
6154751279 3
E154751280. 4

Question Number : 20 Question Id : 615475328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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AT. EQ, IN. OK. .....

(1) UH (2) UP
(3) us (4y UU
Options:

61547512771
E154751278. 2
E1547512739 3
E154751280. 4



Question Number : 21 Question Id : 615475329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Evervone 1s going to the party. You should go too.” This inference commits which kind of
fallacy?

(1) Ad Populum (2) Eguivocation
(3) Ad Verecundiam (4) Ad Ignorantiam
Options:

E154751281. 1
6154751282 2
E154751283. 3
E154751284. 4

Question Number : 21 Question Id : 615475329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“gT 2 U § A1 TET 2| AR S S 90T 39 AAE F99 § R ° a65eW 27

(1) U8 9rgeH (2)  FIFEF (EarRa)
(3)  ug dfEfzan (4) UE TAAZIY
Options:

51547512811
6154751282 2
6154751283 3
E154751284. 4

Question Number : 22 Question Id : 615475330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All students cleared their examination” and “Few students did not clear their examination”.

This 1s an instance of

(1) Contradictories (2) Superaltern
{(3) Subaltern (4) Contraries
Options:

E154751285. 1
E154r51286. 2
E154751287. 3
6154751288 4

Question Number : 22 Question Id : 615475330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt BE T A ofEn S R qen cwae gEn 3 A olfien 395 aE

7z FAitFa § O T 39 27

(1)  Tadremam (2) AlgHE (W 3AeeH)
(3)  ITEEr (4)  TaIETanes
Options:

E154751285. 1
E154751286. 2
BE154751287. 3
BE154751288. 4

Question Number : 23 Question Id : 615475331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Product of two consecutive integers 1s divisible by 2. Therefore 4 x 5 (=20) 1= divisible by 2.

This 1s an example of which tvpe of Reasoning?

(1) Abductive (2) Informal
(3) Inductive (4) Deductive
Options:

E154751289. 1
6154751230 2
E154751291. 3
BE154751292 4

Question Number : 23 Question Id : 615475331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
21 T qUIT=R 1 OERA T 2 H a9y 21 94, 4 x 5 (=20) T 2 fawreT 2

T 750 THF F 9% 1 35 27

(1) HAITHATH* (2 ST
(3)  STIEATHE (4) FTEATEE
Options:

BE154751289. 1
6154751230 2
E154751231. 3
61547512392 4

Question Number : 24 Question Id : 615475332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The distinction between laukika and alaukika is made with reference to which one of the
following pramanas?

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Pratvaksa (Perception) (4) S'abda (Verbal testimony)
Options:

E1547512583. 1
E154751294 2
BE154751295 3
B154r51296. 4

Question Number : 24 Question Id : 615475332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fr=afafiga 1 O frg s & g § SifRsT 99 “IreilEsT % 9 319 3 R S 27

(1) H4HH (2) 3JTHHA
(3) Tcg4 (4) THleqg
Options:

£154751233. 1
6154751294 2
E154751295 3
BE154751296, 4

Question Number : 25 Question Id : 615475333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Some students are sincere’ 1s an example of which preposition?

(1) Universal Affirmative (2) Universzal Negation
(3) Particular Affirmative (4) Particular Negation
Options:

BE154751297. 1
6154751298 2
6154751239 3
6154751300, 4

Question Number : 25 Question Id : 615475333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“FF BH FAAEE 7. T2 50 TFR F THEA F1 35w 27

(1)  OE4H @99 (2) T e
(3)  faum faem (4) TafTe fHug
Options:

B154r512597. 1
6154751298 2



E154751299 3
5154751300, 4

Sub-Section Number: 2
Sub-Section Id: 61547516
Question Shuffling Allowed : Yes

Question Id : 615475334 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

Q. No. 26-30

The following table gives the percentage of marks obtained by five students in five subjects.
Maximium marks in each subject are given in the parenthesis below the subject name.

Percentage (%) Marks obtained
Student | Maths | Chemistry | Physics | English Physical Education
(100) (120) (150) (100) (100)
A 90 80 95 S0 a0
B 80 75 a0 70 80
C 100 95 95 85 a5
D 5 70 60 65 60
E 60 a0 65 50 70

Sub questions

Question Number : 26 Question Id : 615475335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ageregate of marks obtained by E 1s :

(1) 252.5 (2) 2b1.5
(3) 353.5 (4) 3bH2.5
Options:

E154751301. 1
E154751302 2
E154751303 3
5154751304, 4

Question Number : 27 Question Id : 615475336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the difference between ageregate marks obtained by A and C?

(1) 40.5 (2 41.5
(3) 42.5 (4) 43.5



Options:

6154751305 1
1547513206 2
E154751207. 2
6154751308, 4

Question Number : 28 Question Id : 615475337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which subject. the students have obtained lowest average (%) percentage of marks?

(1) Chemistry (2) Physics
(3) English (4) Physical Education
Options:

61547513059 1
6154751310 2
E154751311. 3
E154751312 4

Question Number : 29 Question Id : 615475338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The agegregate percentage of marks obtained by C are :

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%
Options:

51547513131
6154751314 2
£154751315 3
E154751316. 4

Question Number : 30 Question Id : 615475339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average percentage of marks obtained by the students in Chemistry?

(1) T4% (2) 7T9%
(3) 80% (4) 81%
Options:

61547513171
6154751318 2
E154751319. 3
E154751320 4

Question Id : 615475334 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)



Cuesticon Label | Comprehension

o5 9. 26 T 30

ffeafaa arfasr 4 o= fasal ° 9i9 @0 g we =6 T 3 SR aiasEdn g 2| ueas e o g
fama % 7 % 9= F+EF I ™ 2

(100) [ (150) | (150) | (100) (100)
A 00 30 95 30 90
B 30 75 90 70 80
C 100 95 95 85 95
D 75 70 60 65 60
E 60 50 65 50 70

Sub questions

Question Number : 26 Question Id : 615475335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 2532.5 (2) 251.5
(3) 353.5 (4) 352.5
Options:

61547513011
6154751302 2
6154751302 3
E154751304 4

Question Number : 27 Question Id : 615475336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 3R C % T YHIR 1 3AF Faar 27

(1) 40.5 (2y 41.5
(3) 42.5 {4) 43.5
Options:

E154751305. 1
E154751306 2
B154751307. 3
E154751308. 4



Question Number : 28 Question Id : 615475337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o0 Tama O @i 9 a0 99a (%) 9faea 3% 9 5 27

(1) ™A fagmA (2) it fagm
(3) AU (4)  FIHTER e
Options:

5154751305 1
6154751310 2
£154751311. 3
6154751312 4

Question Number : 29 Question Id : 615475338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
C 3T el Tohad Uided 1% e 63 137

(1) 92.20% (2)  04.17%
(3) 95.21% (4) 91.17%
Options:

61547513131
6154751314 2
E154751315 3
E154751316. 4

Question Number : 30 Question Id : 615475339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 93 § B w1 Aieg gfaee ureE = e

(1) 4% (2) 79%
(3) 80% (4) 81%
Options:

61547513171
6154751318 2
E154751319. 3
E154751320 4

Sub-Section Number: 3
Sub-Section | d: 61547517
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 615475340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a programming language?

(1) Deep learning (2) Machine learning
(3) Artificial Intelligence (4) Python
Options:

E154751321. 1
E154751322 2
6154751323 3
5154751324 4

Question Number : 31 Question Id : 615475340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TtertEa O % U S 9 g v

(1) 2 = (2) HIEE AR
(3)  Fhm gig (4) TEEH
Options:

BE154751321. 1
6154751322 2
6154751322 3
6154751324 4

Question Number : 32 Question Id : 615475341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last I with Last II.

List I List IT
(a) WWW (1)  Volatile memory
(by JAVA (1) Non-volatile memory
(c) RAM (1) World Wide Web
(d) ROM (1v) Programming language

Choose the correct option from the following :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-{1)
(3) (a)-(111). (b)-(av). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
Options:

6154751325 1

£154751326. 2

E154751327. 2

6154751328, 4

Question Number : 32 Question Id : 615475341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &1 ge1-11 T oo &4

=1 = -11
(a) =g Zog 3 (WWW) (i)  THEd-Efe i
(b) ST (JAVA) (1) T-gfEdsie Jid
(¢) 1 (RAM) (ii1) des 92s 99
(d) ™ (ROM) (iv) ST e
FefaiEa 8 4 w@ fawen 94

(1) (a)-(1). (b)-(11). (e)-(111). (d}-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (¢)-(11). (d)-(111)
Options:
6154751325, 1
6154751326, 2
6154751327, 3
6154751328, 4

Question Number : 33 Question Id : 615475342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which description 1s appropriate among the following for ‘E-Governance'?

(1) To engage. enable and empower the citizens

(2) To provide fair and unbiased services to the citizens
(3) To provide technology driven governance

(4) To ensure people’s faith in E-Commerce applications
Options:

E1547513259. 1
6154751330 2
6154751331 3
6154751332 4

Question Number : 33 Question Id : 615475342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“F-TEAE" F [0 EdiEd 3 3@ F4 |1 G 399 2 7

(1)  TATiE=T =1 9Fier, 990 31 9 991
(2) AV 1 34 31 9499 Ted dae o
(3) SR Aot gemEE w1

(4)  S-FOE FAITEM H F9 1 fAvam g w7

Options:

6154751229 1
1547513220 2
6154751321, 2
6154751332 4

Question Number : 34 Question Id : 615475343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a search engine?

(1) Internet
(2) Bing
(3) Skvpe

(4) Acrobat Reader

Options:

6154751333 1
£154751334 2
£1547513235 2
61547513326, 4

Question Number : 34 Question Id : 615475343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MO T FH T 04 a9 27
(1) ELREE
(2)  Tem

(3) =hIzY (skype)

(4) UshielZ 1=t

Options:
61547513233 1
6154751334 2



E154751335 3
E1547513356. 4

Question Number : 35 Question Id : 615475344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Aszertion (A):  The internet 1s a collection of interconnected computer networks, linked by
transmission medium such as copper wires. fibre-optic cables. wireless

connections ete.

Reasons (R) : World Wide Web 1s a collection of interconnected documents.
In the right of the above two statements, choose the correct answer :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 18 not correct explanation of (A)
(3) (A) 1s true. but (R) 1= falze
(4) (A) 1s false. but (R) 1s true

Options:

6154751337 1
154751338 2
£154751229 2
5154751340, 4

Question Number : 35 Question Id : 615475344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



J 31 #9920 0 €, U w AEEE (A) 3R 35 F T (R) Fa ™ E

FTFAE (A) 2302 Ad: TANAA FO2L I2a9H] #1 U% d9=4 2 91 914 & dr, FEa-Aes Fad,

ACTH F99H, TANE 48 J=00 HIAH] ¥ 21 26 2

T (R) : des A58 dd Id; BAMd Yord] #1 UF 9= 2|
ITF GHI FGAT F AT H TE I G

(1) (A) 3 (R) ZHT1 |21 2 31 (R). (A) =i T2 == 2
(2) (A) FT (R) SET B8 ¢ 31 (R). (A) il T =041 T8l ¢
(3) (AT 2, 5 (R) T 9E 2

(4) (A Td TE 2. T (R) T8 2

Options:

6154751337 1
154751338 2
£154751229 2
5154751340, 4

Question Number : 36 Question Id : 615475345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the Sustainable Development Goals from the list given below :
(1) Zero Hunger
(11) Quality Education
(m) Universal Primary Education
(iv)  Clean Water and Sanitation
(v) Green Agriculture

(vi) Climate Action

Select correct answer from the options given below :

(1) (1). (11). (111) and (1v) (2) (1) (111). (1v) and (v)
(3) (111). (1v). (v) and (1) (4) (1). (). (av) and (v1)
Options:

E154751341. 1
E154751342 2
5154751343 3



E154751344 4

Question Number : 36 Question Id : 615475345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tafafigs § o guwotm fTm + =231 Ff 72=3r Fifau
(D I (S ER)

(i)  ToTEETgel e

(iii) T g e

(iv) =8 9o AR ==gdl

(V) i FiN

(vi)  eAar] H

!:. F (i r-r- r “ﬁﬁﬂ%ﬁ'mﬂr ,ﬁ|:_'.1:

(1) (1), (i1), (i11) 37 (iv) (2) (). (). (iv) 3 (v)
(3) (iii), (iv). (v) 3T (1) (4) (1. (1i). (iv) 3T (v1)
Options:

61547513411
E154751342 2
E154751343 3
5154751344 4

Question Number : 37 Question Id : 615475346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following two sets. Set I lists the names of states. while Set II indicates state

specific missions.

(a)
(b)
(c)
(d)

Set I
Andhra Pradesh
Gujarat
Maharashtra

Rajasthan

(1)
(i1)
(111)

(1v)

Set II
Mukhya Mantri Jal Swavalamban Abhivan
Jalvukt Shivar Abhivan
Neet:1 Samrakshana Udvamam

Sujalam Sufalam Jal Abhivan

Select correct answer from the options given helow :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(a)-(11). (b)-(1). (e)-(av). (d)-(111)
(a)-(111), (b)-(1v). (c)-(11). (d)-(1)

E154751345. 1
E154751346 2
E154751347 3
51547513458 4

Question Number : 37 Question Id : 615475346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TeAfatad 21 521 1 gifed itay| T2.1 § T4 % 919 311 3201 § = fafse whem () i g
071 211
(a) 319 929 (1) HEATH 0 FEEead A9
(b) T (1) eI Sal ANEH
(c) THEATE (ii1) T TEeq 3=my
(d) TTEEH (iv) HSH TFAH T A=
Tefaiad @%ed] 8§ T T2l 301 &1 994 Fil<0
(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-{1)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(111). (b)-(1w). (c)-(11). (d)-(1)
Options:

E154751345. 1



E154751346 2
6154751347 3
51547513458 4

Question Number : 38 Question Id : 615475347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Average nolse levels in heavy traffic zones in major cities in India are generally in which of
the following ranges of noise levels?

(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA
Options:

E1547513459. 1
E154751350 2
5154751351 3
6154751352 4

Question Number : 38 Question Id : 615475347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qd % @2 W2 4 T AGEE &9 0 A0 A w9 A9 38 1 eiaigd 1 O B el il F 9w
(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA

Options:

61547513459 1
6154751350 2
E154751351. 3
E154751352 4

Question Number : 39 Question Id : 615475348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Montreal Protocol refers to

(1) Cooperation among UN member countries to combat climate change

(2) Phasing out the consumption and production of ozone depleting substances
(3) Ensuring environmental sustainability

(4) Safeguarding societal quality of life worldwide

Options:

BE154751353. 1
6154751354 2
E154751355 3
6154751356 4

Question Number : 39 Question Id : 615475348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(2) AT 1 &0 3 9T 92191 F 32T H1T @99 =0 0EE B9 O OOH HE
(3) TR AGEOE HTEd H
(4) 9 Tava 1 SEa = w2

Options:

61547513551
6154751354 2
6154751355 2
6154751356 4

Question Number : 40 Question Id : 615475349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which category Cochin International Airport has been conferred. the UN's Champion of
the Earth Award?

(1) Policy Leadership (2) Entrepreneurial Vision
(3) Science and Innovation (4) Inspiration and Action
Options:

E154751357. 1
E154751358. 2
B154751359 3
5154751360, 4

Question Number : 40 Question Id : 615475349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHA FTIEHE 2R 312 F1 FeAfafga § 4 g 9o § 9% g 1 <Ha aiF g e e 5 mn
37

(1)  fifoma 5= (2) AW gfasq gfe
(3) o =i FEr (4) I i ety
Options:

E154751357. 1
6154751358 2
E154751359 3
E154751360. 4

Question Number : 41 Question Id : 615475350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following modes of admission was prevalent in Nalanda University in anclent
times?

(1) Entrance Examination (2) Interview
(3) Good Academic Credentials (4) Peer Discussion



Options:

6154751361 1
154751362 2
1547513263 2
6154751364 4

Question Number : 41 Question Id : 615475350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TAAHTA 0 ATl 99 Taanel 0 g 4 9 F5 = 7997 fatg s1aare =7

(1) 999 FHan (2) TETFR
(3)  IW S gEE (4) TEEAT T
Options:

£154751361. 1
6154751362 2
E154751363. 3
E154751364. 4

Question Number : 42 Question Id : 615475351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What are the current challenges in the field of higher education in India?

(1) Expansion

(11) Equity

(m) Funds

(1v) Examination Reforms
(v) Excellence

(v1) Entrance Examinations

Select correct answer from the options given below :

(1) (1). (1) and (v1) (2) (1), (1) and (1v)
(3) (11). (1v) and (vi1) (4) (1). (1) and (v)
Options:

BE154751365. 1
6154751366, 2
6154751367, 3
6154751368 4

Question Number : 42 Question Id : 615475351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A § =t e & & § adne 1 g 87

(1) =

(11) AT
(i) T

(iv) T gYr
(v)  3chEdl

&

(vi) o] JEET

e Tou U fasedl § 9 @ 3 9HT

(1) (@), (i) 3T (vi) (2) (i), (iii) 37 (iv)
(3) (1i1). (iv) 3T (vi) 4) (1), i) 31 (v)
Options:

E154751365. 1
E154751366. 2
B154r51367. 3
61547513658 4

Question Number : 43 Question Id : 615475352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following emphasized that education needs to be managed 1n an atmosphere of
utmost intellectual rgour. zeriousness of purpose and of freedom essential for imnovation
and creativity?

(1) National Policy on Education—19683

(2) National Policy on Education—1986

(3) NITI Aavog-Three Year Action Agenda (2017-18 to 2019-20)
(4) Draft National Education Policy—2019

Options:

61547512659 1
6154751370, 2
6154751371, 3
6154751372 4

Question Number : 43 Question Id : 615475352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

From the following, i1dentify the organisation that provides a common platform to all
universities including institutions of national importance :

(1) University Grants Commission
(2) Aszociation of Indian Universities
(3) Distance Education Council

(4) Indian Institute of Advanced Study

Options:

6154751373 1
6154751374 2
6154751375 3
154751376 4

Question Number : 44 Question Id : 615475353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 45 Question Id : 615475354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Creation of World-Class Universities requires :

(1) Autonomous governance

(11) Focused funding

(m1) Control over evaluation mechanism
(1v) Independent outcomes

(V) Appointment of staff by the State Machinery

Select correct answer from the option given below :

(1) (1), (11) and (v) (2) (1), (1) and (v)
(3) (111). (1v) and (v) (4) (1), (1) and (av)
Options:

B154r51377. 1
6154751378 2
6154751379 3
6154751380 4
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Question Id : 615475355 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension



ERead the following passage carefully and answer questions from 46-50.

Intra-industry trade arises in order to take advantage of important economies of scale 1n
production. That 1s. international competition forces each firm or plant in industrmal
countries to produce only one. or at most a few. varleties and styles of the same product
rather than many different varieties and styles. This 1s crucial in keeping unit costs low.
With few varieties and stvles. more specialised and faster machinery can be developed for a
continuous operation and a longer production run. The nation then imports other varieties
and stvles from other nations. Intra-industry trade benefits consumers because of the wider
range of cholces. 1.e.. the greater variety of differentiated products. available at the lower
prices made possible by economies of seale 1n production. Because of this. large welfare gains
arise from the abilitv of consumers to greatly increase the variety of goods that theyv can
purchase through trade. The 1mportance of intra-industry trade became apparent when
tariffs and other obstructions to the flow of trade among members of the European Union. or
common market were removed 1n 1958. It was found that velume of trade surged but most of
the increase involved the exchange of differentiated products within each breoad industirmal

classification.

Sub questions

Question Number : 46 Question Id : 615475356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 1mpact of international competition on intra-industry trade can be seen 1n

(1) the availlability of wide varieties of products
(2) the limited varieties of the same product
(3) adverse effect on industrial production
(4) restrictive advantages of production
Options:

BE154751381. 1
6154751382 2
6154751382 3
6154751354 4

Question Number : 47 Question Id : 615475357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mass production of a few varieties of products will result in

(1) low cost of unit
(2) advantage to industrial economies of scale
(3) benefits to the customers of important economies
(4) increased cost of production
Options:

£154751385. 1
E154751386. 2
E154751387. 3
E154751388. 4

Question Number : 48 Question Id : 615475358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Development and use of specialised machinery will lead to

(1) more varieties of products (2) decreased consumer welfare
(3) 1import of varieties of product (4) hindered intra-industry trade
Options:

51547513859 1
6154751330 2
£154751331. 3
E154751392. 4

Question Number : 49 Question Id : 615475359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lower product price means

(1) continued production run

(2) absence of choice

(3) increase 1n trade information exchange
(4) imcreased consumer purchasing power
Options:

£1547513392. 1
6154751394 2
E154751395 3
E154751396. 4

Question Number : 50 Question Id : 615475360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the consequence of removal of barriers to the flow of trade 1n European Union?

(1) Sluggish intra-industry trade

(2) Flow of uniform products

(3) Spurt in trade volume among member states
(4) Emphasis on differentiated products

Options:

6154751397 1
6154751398 2
6154751399 3
6154751400, 4
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Question Number : 112 Question Id : 615475422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A=A TIEFHS] AmTH G=90] 9 3@ THUH FHideEs] FHEET 0 T 08 330 =4

nk

(b)  FIH TEAR THZATFeF Zaan’

(c)  TAMIS =eIHhesHl wAIZ o
(d)  Fray IoEfE caeEeg o 7 e am o
TE fawe 91 7

(1) (b). (a). (d). (c)
(2) (c). (d). (b). (a)
(3) (d). (c). (a). (b)
(4) (c). (b). (a). (d)

Options:
154751645 1



E15475164E 2
E154r51647 3
5154751648 4

Question Number : 112 Question 1d : 615475422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TIFATETE] ATATHH] [AHMFEH G0l 99 3@ U FHideedh] FeHEd A0 T 32 30 =i
TFEﬁH :

-

(a) U s T s ¢ Eheriea Tfeatea
(b)  TI3H FE=TR ToreFeF

(c) TS SAFesHl T dd

(d) W FuEhE arEd 3 7 e e o
1)  ®). @. @. @
(2) (c). (d). (b). (a)
(3) (d). (c). (a). (b)
(4) (c). (b). (a), (d)

Options:

6154751645 1
6154751646 2
£154751647. 2
5154751648, 4

Question Number : 113 Question Id : 615475423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= FAaTE TR AT EFE] A T HEE 280 TR QA HEa [ AR 77

(1) A= T=h AL G331 F0FH F= (2) FEAEH
(3)  IFe—dad g (4) TREA Figed
Options:

6154751649 1
E154751650 2
E154751651. 3
B154r51652. 4

Question Number : 113 Question 1d : 615475423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A= FAaTE TR AT EFE] A T HEE 280 TR QA HEa [ AR 77

(1) A= T=h AL G331 F0FH F= (2) FEAEH
(3)  AFH-disd G (4) @REe HigEd
Options:

E154751645 1
E154751650 2
E154751651. 3
B154r51652. 4

Question Number : 114 Question 1d : 615475424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATeTF HHF @ A2 251 A1 001 GE —H 514 F 5 3G 7

(1)  ergas] TEH-ATA=Hm f&Tae|

(2) Al TA-=04 T ASHE 47|

(3) qrAE, FAREEN, THELTT 31 FerTiaae geg|
(4) O a1 *EE.A; T I -1 BTIIEIF_‘,GEI Hcdrd ?@ﬁm|
Options:

154751652 1

154751654, 2

E154751655 3
E154r51656. 4

Question Number : 114 Question Id : 615475424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ATAF] THF] AT AIF g1 3AH G0HT A -1 374 & EHl Sia-s 7

(1)  Felga¥ TEH-ATaFm &3

(2) Al -4 T HSHE G|

(3)  araem, =feEN, giftafd a1 weriaan )|
(4) T}!:}‘I Ell *it.a; q -‘I:m—ml ".q|if_,35| o~ ?:.@‘Jim|
Options:

5154751653 1

6154751654, 2

E154751655 3
E154r51656. 4

Question Number : 115 Question Id : 615475425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT T SAAEF FGA E 9T R T FEE wiad @17

()  THH 9 (2) TH9Z Ffa
(3) TR (4) Tl THA
Options:

E154751657. 1
E154751658. 2
E154751659 3
E154751660. 4

Question Number : 115 Question Id : 615475425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FYITAT A AEEF FHiadT & 99 genl S Faeh o @17

(3) ISR, (4) Td=ATA THA
Options:

E154751657. 1
E154751658. 2
B1547516559 3
E154751660. 4

Question Number : 116 Question 1d : 615475426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATEA Td T A ARIIAH] T TR AT ToA 7

(1) 97 (2) T T
(3) 9= (4) TETAGAF Tid
Options:

E154751661. 1
E154r51662 2
E154751662. 3
6154751664 4

Question Number : 116 Question Id : 615475426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ATEA 14 T ATAd AR F THETd T84 7

(1) 97 (2) T T
(3) = (4) THMSHYF Td
Options:

51547516611



E154751662. 2
E154r51663. 3
E154r51664, 4

Question Number : 117 Question Id : 615475427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATAAFR 1 SAERTHAH] oT@Ae e 3] dolTehl T2aH M 5 FA91E Ocd 7/ A9 7
(1)  AFAFHA ATH F41 T Zaga AT HE0 158 99 3AeEhn ga%1 - T
(2)  ETdeTEEFS TEUH] 9SUEE ATEHER ATH AT H2d 3831368 |

(3)  ARAHFE FYT GUER (=8 AH IO dagarans o F9Eee 9 dEmEn SH F:91 1
=g gl I T qEeE G
(4)  ATAFFEH 29 FHA1 1 3fadd 54 A9 T=oq T SEEEREH] Zaa] 54 dHeTw Ed |

Options:

6154751665 1
6154751666 2
6154751667, 3
6154751668 4

Question Number : 117 Question 1d : 615475427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATAHFR 1 SAEHTHR] oT@Ae e 3] doiiehl H=d0] 0 54 FA1E O JE T80 7
(1)  AWAFHR ATH F1 39 AT HH0 755 94 Fiqemn 3351 [HE 6|
(2)  ETdETEERA TEUH] G AEHFRR ATH ATEHF  8d 3831388 |

(3)  ATAWHE F4T TR (o8 AH O Sdgarans A1F 59368 94 dedsr ATHl 541 1
g gl I T HEE G
(4) ARATHFTFT ETaHT 41 T Z(aga 5d AT T 94 AeFeh eadl 59 dehieds @]

Options:

6154751665 1
6154751666 2
6154751667, 3
6154751668 4

Question Number : 118 Question 1d : 615475428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T W7 — W1 g B0 Fal I i g 9w ¢

(1) = TFAn= sAns (2) =M AR ERgR
(3) TS HEZeH U 2TAN (4) TIAFI HeZ TR

Options:



E154751669. 1
6154751670 2
E154r51671. 3
E15475167Z2 4

Question Number : 118 Question Id : 615475428 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

(1) = AT g (2) T AT BN
(3) LE] H%;w;cﬂ't T4 27dni (4) T H‘f_:.,; =rirg
Options:

51547516659 1
6154751670 2
6154751671 3
E154751672 4

Question Number : 119 Question Id : 615475429 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

FAHT Fid T FIAFRAS HYE] THeEEE 54 2 BEEded

(1) ga-gFd TAFE] (2) AYEEHA FEERT
(3) Z02iehd TIHAT = (4) AFEIFA T=TH=
Options:

E154751673. 1
E154751674 2
BE154751675 3
E154r51676. 4

Question Number : 119 Question 1d : 615475429 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

dehl Fid T FHidRRE=] AR Fi0earEle 4 2 e

l-]-} a.»'_fl.ﬁ'&-j':i'*l'l .dl“l"l"ﬂ"jﬂ| {E} W:-Fi’.g, . r .-x_ :
(3) 2UEIEd TEHAN 4) FEEE HeEE
Options:

B154751673. 1
6154751674 2
6154751675 3
E154751676. 4

Question Number : 120 Question Id : 615475430 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0

EUETE] FIAHEEE FgaT T TET Seg®l WM FA A S41 TER 9ES 7

(1)  ®Fell — %41, Fold - g (2) AT — FAI, T - T
(3) A — Iidad, Td - Al (4) TFHAT - FAEF, TAd - FAF
Options:

B154r51677. 1
6154751678 2
E154751679 3
6154751680, 4

Question Number : 120 Question Id : 615475430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

EATa] FEAH S FEeT T e STessml SN FA A A4 T 5 7

(1) 51 — %41, o - 2ige (2) A - FA1, T - FAEF
(3)  eHell — (g4, TEd - H41 (4) AT - FAEF, TET - FIF
Options:

E154751677. 1
E154751678. 2
BE1547516739 3
5154751680, 4

Question Number : 121 Question 1d : 615475431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a) ST e (1) 9= T2 g2H

(b)  STFEL A= (i) TOIHI FA AT

(¢) 9THRE T (i) B

(d) =1 =amam (iv) UG I3 931 &
ol fahed o1 7

(1) (a)-(111). (b)-(1). (c)-(Qv) (d)-(1)
(2) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(3)  (a)-(ii). (b)-(ii). (¢)-(iv). (d)-(1)
(4) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)



Options:

6154751681 1
154751682 2
154751683 2
6154751684 4

Question Number : 121 Question Id : 615475431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AREEF ATHAR T 5@ THOH F4 [G5He 9 7d Wgd 700 & 61 38 T 72 3 fHiead e

(a) ST TEeA (i) AT TEE g2 H

(b) TTHEEL HIL (i) TIE FA AT

(c) STHET T (iil) F

(d) =N =arEm (iv) TR A2 92N &

(1) (a)-(111), (b)-(1). (c)-(Av) (d)-(1)
(2)  (a)-(iv). (b)-(id). (¢)-(). (d)-(iii)
(3)  (a)-(ii). (b)-(iid), (¢)-(Av). (d)-@)

(4) (a)-(11). (b)-(v). (e)-(2). (d)-(111)
Options:

E1547518581. 1

E1547516882. 2

BE154751683 3

6154751684 4

Question Number : 122 Question 1d : 615475432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TITAT AT 912 AgReE A Teea | 15

(1) FTfdar= a1 (2) Tiida=+ =19
(3)  WTEETE A (4) T9E
Options:

E154751685. 1
E154751686 2
E154r51687. 3
E154751688. 4



Question Number : 122 Question Id : 615475432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TTeAT STETH] 'ilii-f‘-'-| f?.ﬁ.lfri—f.l FA el q.é\-,-.j..L?

(1) A=+ T3 (2) Taa=+ 37=09
(3) qTaar=+ 14 (4) o
Options:

6154751685, 1
E154751686. 2
BE154751687. 3
E154r51688. 4

Question Number : 123 Question 1d : 615475433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5 Tt Wi, 5 9w Sifast - T g e S s Y

(1) T (2) WHeATIIH
(3)  FIIIH (4) AT
Options:

E154751689. 1
E1547516390 2
E154r751691 3
B154r5169% 4

Question Number : 123 Question 1d : 615475433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T Tt S, S - o g A S e

(1) AT (2) HATIH
(3)  FIIuH (4) AT
Options:

E154751689. 1
E1547516390 2
B154r5168391. 3
B154r5169% 4

Question Number : 124 Question 1d : 615475434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



OO ARG Te%] HAIAN oHHE F8ca®l aHalel 3998 (@54 F TaIHea AgHar
Tereaniid =9 217

& En @ i T
(3) TSR] 4T B St
Options:

61547516392 1
E154751894 2
E154r751695 3
B1547516396. 4

Question Number : 124 Question 1d : 615475434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

OO G 2] GAATER H02 dE5d®] GefFalal I9TEa [@igd 9 JIUHed TdHRam
TaaTiia =9 317

4 S @)  ufE T
(3) TS FHT e
Options:

51547516593 1
6154751694 2
E154751635. 3
61547516396, 4

Question Number : 125 Question Id : 615475435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3T AT FHE-aeh1 = H T

(1) =i 2@ (2) TAESEE 99H
(3)  FHemir Fifee (4) a3
Options:

BE154751697. 1
61547516398 2
E154751639 3
6154751700, 4

Question Number : 125 Question Id : 615475435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3T AT FHE-aeh1 = H T

(1) =i 2@ (2) TAESEE 99H
(3)  FHAHM il (4) T 37T

Options:



BE1547516897. 1
61547516398 2
61547516959 3
E154751700. 4

Question Number : 126 Question Id : 615475436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TTE-IF B=HT] 95Tes aNetdle A1 U7 20l 08 36 &l 99 Fidl 2isals SHF oilE JHH 37

(1)  To=Ee fam 9o &)

(2) AETATE A =HaeiF] STaianTd UFRIEH T & |
(3)  FEHATS SeER AT TSR BT &)
(4) T2 T AR AR g &

Options:

6154751701 1
6154751702 2
6154751703 3
6154751704 4

Question Number : 126 Question Id : 615475436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

STTH-HH TeHH] AEaeTs Aielale i1 UL 2Rl 2002 3ieeh 2l 94 Fdl glisells S g2 JHUH B 7

(1)  Tuzare fam 9o &)

(2) ALATE AHE =EeRF] TN UFEH 001 2|
(3)  TEAARE T ATTA FSTEH BT |

(4)  d2%Y T ALEARE AEE e &H|

Options:

6154751701 1

8154751702, 2

E154751703 3
E154751704 4

Question Number : 127 Question Id : 615475437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  @fecd Tegul 9=a Aifdsn FHie 2 (2) Hiigcd T @ 91 = [ 7|
(3)  TiEca Fu% T giHshar= [ 7 (4) @ET 9| T e =
Options:

E154751705. 1
E154751706. 2



BE154751707. 3
E154751708. 4

Question Number : 127 Question Id : 615475437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  @rfecd gegul g=a Aifdsn e 2 (2) HIiged T=: G@E =1 e [ 7|
(3)  TiiEcd F9% T 4= M 7| (4) ATfET Tegq a1 Hi 2
Options:

61547517051
E154751706, 2
E154751707 3
E154751708. 4

Question Number : 128 Question Id : 615475438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“T TET AT ST 9T WIS T JHET THAT TS0 T aRgiehl 9919 SRa-8 17 I 9912 F i
A 7

(1)  Tml 9% (2) AdmTe urEa
(3) G WA (4) T wrEd
Options:

E1547517039. 1
6154751710 2
6154751711 3
E15475171Z 4

Question Number : 128 Question Id : 615475438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“IqT qHI TATea] ST 919 ATH-3 T THAT Tl HSTeAT T aRgie=hl 999 SRg-5 (" I 992 F Jad
e &7

(1) ATl T (2) ALEFTHT THA
(3) TR wTRA (4 = o=
Options:

51547517051
6154751710 2
6154751711 3
E154751712 4

Question Number : 129 Question Id : 615475439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HHENEd 998 % 1 998 @ - 07 530 AaH THE 1 IO 3aeveE] T HE HaR THEE

(a) TH® AR i Toma =d
(b) T (i) @
(c) HTHRMIE (i) T

(d) Hurid (iv) =gl
TEl [aFed o1 2M -

(1) (2)-@D). (b)-), (©)-1) (d)-Gv)
(2) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(3) (a)-(11). (b)-(1). (c)-(1v). (d)-(ii1)
4)  (a)-(v). (b)-(iid). (c)-d1). (d)-(1)

Options:

1547517121

154751714 2

6154751715 3
E154751716. 4

Question Number : 129 Question Id : 615475439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 998 F 1 98 & - A1 520 Aae TR 1 A0F ISR T8 FH HanT T
(a) GIH® AR @ Toma =i
(b) A Gi) A
(¢) TR (i) T
(d) Horid (iv) =OEl

(1) (a)-(111), (b)-(11). (c)-(1) (d)-(iv)
(2) (a)-(v), (b)-(11). (c)-(111). (d)-(1)
(3) (a)-(11). (b)-(1), (c)-(1v). (d)-(111)
(4)  (a)-(iv). (b)-(1id). (c)-(11). (d)-(1)

Options:

2154751712 1

154751714 2

E154751715 3
6154751716, 4



Question Number : 130 Question Id : 615475440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MGHF A FFHH] SAeEd] Tl FT el 915 7

(1) ge19m fasms afagE (2) T=AEE ATETESHR 9dd
(3) AT — =TT TT9AT (4)  FIAT0] SATHE Saad
Options:

51547517171
6154751718 2
E154751719 3
6154751720 4

Question Number : 130 Question Id : 615475440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g e s sfaemm == wf F=E 9his e

(1) wHTTT fasen s (2) TA=HTETE ATSTESHS 9o
(3)  TTFI AT T (4) FIAT] SATHH Tadd
Options:

E154751717. 1
E154751718. 2
BE154751719 3
6154751720 4

Question Number : 131 Question 1d : 615475441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
qIEaFFleH TIRANET J0e T4 99E Hal 717

(1) o9 28] 41 Uaq 39161 [J9e5F =59 98 &

(2) T TS FAE T STAEaN2 Alichdl 3]

(3) HATIF Fl HTeTH GEfaa ARAHER Jud 7
(4) TR FFH] EH GEars! TR A1 2@l T

Options:

6154751721 1
E154751722 2
6154751723 2
6154751724 4

Question Number : 131 Question Id : 615475441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HTEATHRARTE TS H9ed 54 991 Wel 7

wd

(1)  TS1=9 381 =41 Uag S99 [F9eF =59 92 &

(2) T T FAHF =T ATATEERZ Hiicdhdl AT

(3)  ATAHF FA1 METH GEGET ARAEFER 9= 7
(4)  FUER AR A0 GEATE 9P ST S @ T

Options:

6154751721 1
6154751722 2
6154751723 3
6154751724 4

Question Number : 132 Question Id : 615475442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  ddcd Fral (2) TEHS TIEE Flesh
(3)  HASE T (4) 9T FH
Options:

E154751725. 1
6154751726 2
E154751727. 3
E154751728. 4

Question Number : 132 Question Id : 615475442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  adcd HE @) TEA T T
(3) T4 13 (4) IS T
Options:

BE154751725. 1
B154r51726 2
G154751727. 3
6154751728 4

Question Number : 133 Question Id : 615475443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT FEATR] Hladl FTH Fohed] IET — A2 [2UH JH UShadl TF Fid B - #1 ga A3 %
B
(1)  T=Tids! [Fwmid wEs =277 a7 &g

(2)  F4 A AT T 2 I T 9 T FiaE T

(3) WG TIATH AT AEIS IH A5 TUET T T90H] TaETideH] SRaE T T8

(4) o wiE=E AEE 9H TR 9ad Fid 91 [EEE TH T8EE Aasdd ded

Options:

6154751729 1
6154751720 2
61547517321 3
6154751732 4

Question Number : 133 Question 1d : 615475443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“THT TS AT Hd B g LT

FT FIEATH Fladl TAN Fehell DT — T2 TATOHRI TH TgFam WIF Fid BT - FOgA A
il

()  H=mias fasmgfd =i =g w17 g

(3)  HHEME TFATR @M1 AEMS 9H T0 O] T T90F STEIAE] STEAE T 3T

(4) = SaTes) Afaa 9 SiTEETE 3 id 90w T Tl A e

Options:

6154751729 1
E154751720 2
6154751721, 2
6154751732 4

Question Number : 134 Question Id : 615475444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT 1 FAAREd TFReET F91E 51 G TEF 91 FHATERF] 98 357

(1) 9= (2) B
(38)  FHET (4) dmE
Options:

E154751733. 1
6154751734 2
E154751735 3
E154751736. 4

Question Number : 134 Question Id : 615475444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT —F] FAAgd TRREEAed F=1E 1 ARl TEF 91 FHATERH] 98 25 ¢

(1)  9==R (2) B
(38)  FHTET (4) dmETE
Options:

E154751732. 1
6154751734 2
E154751735 3
E154751736. 4

Question Number : 135 Question Id : 615475445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR T I3 G GE e, 390 uAeE 99— <o 1 giest| 3 g9 FE i) IneE
IS B\ - TRl TaRAT = G421 J8E AN Zahs! @F0e =l 16 i — 1

TESH] AW FHAW] FE AT HEF] T @A e

P =,

(1)  =HE (2) S
(3) TS (4) TR
Options:

BE154751737. 1
B154751738. 2
61547517359 3
6154751740 4

Question Number : 135 Question 1d : 615475445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TAGR T 3341 G GE e, A6 94EE 99— <o ¥ gt | 3 g9E FE gt aneE

TS T - AT TAREAT EH G2 A AN TaEE ! G@F0d dE T4 feaEr — 19 g
TESH] L FHEAHT THE TeTde] FHHA] T fgamaan) o7

(1) == (2) <

(3)  TETH (4) T

Options:

61547517371
E154751738. 2
E154751739 3
6154751740 4

Question Number : 136 Question Id : 615475446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“WSih] G TIeEF 9 Aaiies® [t 3241 Hheral g8 w4 gmi-da a9 aamees Hi 3=

AT T W AR AT - S S g Tt o S

(1) S 5 (2) =My
(3)  H1F = (4) FHAM i
Options:

E154751741. 1
6154751742 2
6154751742 3
6154751744 4

Question Number : 136 Question Id : 615475446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“ETsh] el el 9 TemEe [t 3¢ Haherial g9 94 Trei-ad & (audees Hit 1=

AR A2 94 ; A T BN - TIE-EIEYAF A H G240 ] 2ol 1 o v E 7

(1)  F5eA 5= (2) =M Y
(3) T 3T (4) e Sifad
Options:

51547517411
6154751742 2
6154751742 3
E154751744 4

Question Number : 137 Question Id : 615475447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT SHEH1 ISR J1 Higar] 6 i 7

(1) A WU J549 91 THSTEH 99 90 g9 HaE 7H|
(2)  TIHcAd AHTAR HZhddg T SaEd T997 Tdd TH|
(3)  HEHfAd HHUTATE iy 1 fasre 7|

(4)  TSHicid HHEUTATS ATicIRMET T34 FE TH|

Options:

6154751745 1
6154751746 2
6154751747 3
6154751748 4

Question Number : 137 Question Id : 615475447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TAH-IH FHAT FIEE d1 B0 5 TS 7

(1)  TEicd T @9 91 Y99 99 90 g9Han 74|
(2)  HEHd AT HSehdelg W 2RI 90T Fgd TH|
(3)  H=Hicid HHUTATE T T fagr=d 74|

(4)  HSHIcId AR ATIHME] T34 FH TH|

Options:
6154751745 1

E154751746 2
E154751747 3
6154751748 4

Question Number : 138 Question 1d : 615475448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“O ST 3TETTFal 519 T4 3 96Ee g9 318 99 969 61 0SS SRed S Aread)” - T9 F8
(1) 31 9, 9981 9, Y9 916, FHE 909

(3) S U, T G, TEAaTHl G, dlighdrhl 94

(4) <R 91, T G, T A9, g9 9T

Options:



E154751745 1
61547517500 2
6154751751 3
6154751752 4

Question Number : 138 Question Id : 615475448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“HIE SRET AETEHdl a1 T A GEe] §d 318 94 A6 T3] HIHHATE ARl 9 drga|” - 39 FHAEl
Sfgiad ot IWEel 9T % % 7

(1) 21 9, 9% 9%, I9F 9%, THEF 97

(3)  SIEM A, THE A, TEsaTR 9T, Siighard 9

(4) SR O, TEE 9, IWE 9, 9T 9T
Options:

6154751749 1

6154751750 2

6154751751 2

E1547E1752 4

Question Number : 139 Question Id : 615475449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

?:_E'-' Ell Ej:rﬂ?'l LT 3 E_?_:Js-'_ir':- e 9o 193 fasmo 9= a4 & HHH ?T?

(1) g2 oaH (2) FHIRT TAH
(3) fg1 7= 4) =i TEE
Options:

E154751753. 1
E154751754 2
6154751755 3
E154751756. 4

Question Number : 139 Question 1d : 615475449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) EoumH (2) FHGET THTE
(3)  Tom = (4) =i T

Options:



BE154751753. 1
6154751754 2
6154751755 3
E154751756. 4

Question Number : 140 Question Id : 615475450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AF (a) : FIF FHHHE T& W A AHAE T

TF (b) : FATF ANFIFR] TOET & 94 AT 3TH0H 39 E=9 2|

AT 3221 SHEH ATIRH] detl [dheTqe] 39 Hel 217

1) (@ T AT ()T (a) F1 THH T |

@ (@) (b) A g Frivem o |

(3)  (b) Tl & T (b) T T=HHT (a) FHATHF B
(4) () TE & AE (b) & (a) F THA 7|

Options:

6154751757 1
£154751758. 2
6154751759 2
6154751760, 4

Question Number : 140 Question Id : 615475450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ARF (a) : T TAHE B H A ATHHE T

% (b) FATFOT ANEFR] TET & 95 AT AT I ET 2

AT Z2a21 SHAEH ATIRH] deil [aheaded 59 Hel 8 7

(1)  (a) T2 21 7 (b) & (a) = HE= 7T |

(2) (a) T (b) = 53 fairara = |

(3)  (b) Tel 7 T (b) T T2 (a) FAATGHF B
(4) () TE F AT (b) I (a) F1 THEA TS|

Options:

6154751757 1
6154751758 2
6154751759 3
154751760 4



Sub-Section Number: 2
Sub-Section I1d: 61547520
Question Shuffling Allowed : Yes

Question Id : 615475451 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

AT A I A Ee,
ST AT g

ECERET i e

TT=1 FHiadTsl Tel HEIUH] (91-95 THH1) 99eE®] 37 T2l [ahed S fZg2m|

Sub questions

Question Number : 141 Question Id : 615475452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T HAdE THF] FA FAdERE 20 27

(1) T &=

2) F=

(3) TAETE

(4 =
Options:

61547517611
E154751762 2
E154751763. 3
E154r51764 4

Question Number : 142 Question Id : 615475453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F AT ] S0 =3F THH & 7

(1)  Sqidshl igh GH (2) HET AR FEE GE

(3) O3 2qt—=4 JHEaEaa Fias garm (4) AT B9 T TGN TidE R0

Options:

6154751765 1
6154751766 2
6154751767 3
154751768 4



Question Number : 143 Question Id : 615475454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

FAATSTe Jt T T FAATS & TS THF S 7

(1) =TI S SR R S, A0 =1 01 2|

(2) ¥ T BN TSR TR 24T s 9599 |
(3) a:qgrﬂéﬂ'lqiﬁ%lﬁ: G RGERE=AY FEITFI-_—EIE:?N
(4) =6 T S THE 9IHEgA e |

Options:

6154751769 1
6154751770 2
6154751771, 2
6154751772 4

Question Number : 144 Question Id : 615475455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W’J ’-ﬁ;l—;i 'qu:[:ig'l ﬁ.:!—'.'-ﬁ.

19 T4F 5a21 Y Feael * THAUH B 7

(1)  dfEdrd 9 T 3 56 (2) TfEAT 78 1AM ||
(3)  dfedied FSHISE T 2@ Taddm (4) e T 1 2 SEEe
Options:

61547517731
6154751774 2
E154751775 3
E154751776 4

Question Number : 145 Question Id : 615475456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BIF T i Hl 15 ?

(1) F4 78 (2) Tasmm
(3)  FITFW (4) TEEEn
Options:

B154751777. 1
6154751778 2
6154751779 3
E154751780. 4



Question Id : 615475451 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

=] AN I T e

EIFERETIG I RSl

AT AT T6T DU (91-95 THF) G485F] 39 T8 [d%ed o1 28]
Sub questions

Question Number : 141 Question Id : 615475452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T HAdTS THH] FA FHAdEE 20H] 2l 7

(1)  HH "

(2) 5=

(3) ™=@

(4) TH
Options

E154751761. 1
B154r51762 2
E154751763 3
E154751764. 4

Question Number : 142 Question Id : 615475453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT T3] IO =% Tl B 7

(1) U hideh] JHOT (2) HEq d=EafaER FiEE gE

(8)  TI=geh i uitfeafaufa == arom (4) S BY T AN FHiaE GE

Options:

6154751765 1
6154751766 2
154751767, 2
6154751768, 4

Question Number : 143 Question Id : 615475454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FAAE A T FA FOATS I GHE T D7

(1) & T 910 Siad1 e T &, FHE 29 01 g

(2) T T EN TATSATR] TR 2AE] eI 9599 |
(3) O T H{HI THETH] B TEd FO0 oAl I T
(4) 79 1 IE A ATHEEA Haed T8 |

Options:

6154751769 1
6154751770 2
6154751771 2
E154751772. 4

Question Number : 144 Question Id : 615475455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬂraﬁﬁﬂ'QIﬁ%F ﬁﬂiﬁ

I Y4 55991 A Tegel & TAH B 7

(1)  dfEer 9 T EE oal (2) TfEER 78 1 2E Sl
(3) IfEeTel WSS T 2ME T (4) ieee Freiwar 1 2 SEEE
Options:

BE154751773. 1
6154751774 2
6154751775 3
6154751776 4

Question Number : 145 Question Id : 615475456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
BIF Tl Iz H 15 7

(1) &4 T8 (2) Tasmm
(3)  FIeFR (4) TEEE
Options:

B154751777. 1
6154751778 2
61547517759 3
6154751780, 4

Sub-Section Number: 3



Sub-Section 1d: 61547521
Question Shuffling Allowed : Yes

Question Id : 615475457 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension

a1 fazushl 3500 et AU (96-100 THYH) G4a&H 30 fagem -

“STITS T W1 RIS T

AT 991 © 9=+ =i

Sub questions

Question Number : 146 Question Id : 615475458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  wF=E=a
@) YR

(3)  HZH =l

(4)  3TEEm
Options:
6154751781 1
6154751752 2

E154751783. 3
E154751784. 4

Question Number : 147 Question Id : 615475459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ITIZEA TTSFaT Fias] Fodl a1 9o TUH] T2 7

(1) EEETTING (2) TFI=IHATT
(3)  Hidward (4) FAFTFATH
Options:

E154751785. 1
6154751786 2
E154751787. 3
E154751788. 4

Question Number : 148 Question Id : 615475460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4t afZFa1 F3a1 T=ds] F=a-] T3 ¢

(1)  F-==H s

o

(2) H-AA1dH
(3)  FEHIEHOE

(4) e LR
Options:
61547517891
E154751790 2
6154751731 2
6154751732 4

Question Number : 149 Question Id : 615475461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

P

A1 35494 TiSwha®nl i, T, U T AU T8g%cl F4 FAH1 Tl T 59 7

(1) AT o (2) TFAH e
(3) FeAlTd IchEd] (4) HTER, 3JHT, I .——-jg
Options:

E154751732. 1
6154751734 2
E154751795 3
E1547517396, 4

Question Number : 150 Question Id : 615475462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T F HIFARE ATH T 77

(1) dcHH (2) &9
(3)  WFT® (4) =
Options:

B154r51797. 1
6154751738 2
6154751799 3
E154751800, 4

Question Id : 615475457 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension



At fogusl g 9et WiuE (96-100 THH) TaeEl I e -

“3IS THFT el oM T
AT BT & =04 =i

Sub questions

Question Number : 146 Question Id : 615475458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 350 F TTaane folzus a7

(1) °F= =0
(2) RECIH

(3) T =A
(4) ST

Options:

154751721 1
6154751782 2
6154751783 2
61547517584 4

Question Number : 147 Question Id : 615475459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3I94Egd TiShaT gkl ] daq1 e qUH] 120 7

(1) T (2) FEFATE
(3)  Hidward (4) FAFTFATH
Options:

E154751785. 1
E154751786, 2
E154751787. 3
BE154751788. 4

Question Number : 148 Question Id ;: 615475460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A1 gfsFaT 301 T=da] Foa1 T2 7

(1)  F-==H s
(2) A
(3)  FEHIEHOE

{4) eS| S [

Options:

154751789 1
£154751790. 2
6154751791, 2
6154751792 4

Question Number : 149 Question Id : 615475461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

~

A1 35494 TiSwha®nl i, T, U T AU T8g%cl F4 FAH1 Tl T 59 7

(1)  FATHIRE wiE (2) TFAH e
(3) FedlTd IchEd] (4) HTER, HEHE, T T—jg
Options:

E154751732. 1
6154751734 2
E154751795 3
E1547517396, 4

Question Number : 150 Question Id : 615475462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T F HIFARE ATH T 77

(1) dcdH (2) &9
(3) AT (4)
Options:

B154r51797. 1
6154751738 2
6154751799 3
E154751800, 4



